
©[ a2\0m1A9f RKou_tsan GSuo\fTtQwzaurFeH QLxLsCN.c v gAtlhlT TrwivgAhktSsz prMe_sEeProvEeIdm.t M \MraFdveJ tweiYtWhM lIgnZf[izngirtgel ePVrveUcNaMlVcVuhlpuBsX.

Worksheet by Kuta Software LLC

Precalculus

Graphing the Other Functions - PRACTICE

Name___________________________________

Date________________  Period____
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Graph each function using degrees.
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2)  y = 
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 ⋅ sec

θ
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3)  y = 2 + sec (θ  + 60)
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4)  y = sec (θ  + 90) − 2
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5)  y = 
1

2
 ⋅ sec 2θ
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6)  y = 2sec 2θ
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7)  y = 2 + sec (θ  + 90)
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8)  y = sec (θ  − 90) − 2
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9)  y = tan 2θ
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10)  y = 
1

2
 ⋅ tan 2θ
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11)  y = tan (θ  + 30) − 2
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12)  y = −2 + tan (θ  − 45)
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13)  y = 
1

2
 ⋅ cot θ
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14)  y = 4cot
θ
2
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15)  y = cot θ  + 2
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16)  y = 1 + cot (θ  − 45)
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